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LOADING HAULING
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CONCENTRATOR PLANT HYDROMETALLURGY PLANT
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The average benchmark mines require little
less then half the man-hours that the
national average.

One of the reasons for this productivity gap 
is that in Chile, 1.8 people work in plant 
and support for each worker in the mine, 
while in an international mine that ratio is 
1.3

The most efficient national mine required
43 man-hours to move 1,000 tons of
material. The least efficient mine required
115
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COMPANIES SELL PRODUCTS 
AND SERVICES TO MINING

US$20.000 MILLION 
ANNUAL SALES TO MINING
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